Unit 02. 9si=9 d (Reproductive System)

Q. WS OF © SITY 9T YHEI 67 9UI Hhioig|
What do you mean by reproductive system? Describe it.
IR - o oA (Reproductive System)

Tcies uToit | fSiaeT oft foramd’ ot srerar sriafes ot & fAfda o=t & g
gidt 8, @ Tt sk ot Siifaa @A & g gt € uveg w1 a1 &1
(reproduction) <t foaT & dergfeg srear g+ S gt Siia-sd @i fFR=R
Tl 8¢ Sl 3= AT g, 34T fohar et Usi=+1 o (reproduction

system) chgd &l
g foraT & e Y gt &

All the activities that take place in every living being through
organs or systems made up of internal organs, are meant to keep
the body alive, but the process of reproduction leads to the
growth of offspring or similar ones.

To continue the life cycle, organisms have to be produced, this
process is called reproductive system.

This action is of two types-

1. 3t Wet=i= fohaT (Asexual Reproduction)-

31cAfTIeh 2Teg | 81 T &1 Sl & foh feham dhaer Tanenielta Sftar # &1 d@va
gidl & Si9- srftar ar dadifar)

From the word asexual it becomes clear that this process is



possible only in unicellular organisms like amoeba or bacteria.

2. <ifres wet=i fohar (Sexual Reproduction)-

gy fohar # &iffTes Ol & ZR1 9d9 3= gid! &1

[T =R T ATET S7YaT §3W Ud it & st difien 9w W1Ud g4 & Teh
T Sifa (Ta) & St giclt &, fores aren-fian g & smaaitares o
Ugd 8|

it v gy a1 8t § fafre =g R (germ cells) gldt &, St

I T T Tgd 61 99 | I SEAIY] (spermatozoa) 94T @il H 8=
glovum Bl &1

STERIY] o &% oh |1 SISIA 81 S U 14T i fohaT 704 81 AT
-

foeeh therea=y gra-sl 1 SIIATNE (zygote) a1 8, 51 Sif & mHisrg &t
faf & &9 wirar 8, 9t i 39! gl ud e gian

efiR-ofR a8 Uk A &1 U UR0T IR AT 8 3R 9 AIE UHT 39 Ay A
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this process, a child is produced through sexual intercourse. In
which sexual relation is established between male and female or




male and female and a new organism (cffspring) is born, which
inherits the genetic characteristics of both the parents.

Both men and women have specialized germ cells, which are
called gametes.

These are spermatozoa in men and eggs or ovum in women. The
process of conception is completed when the sperm combines
with the ovum.

As a result, a zygote is formed, which sinks into the wall of the
woman's uterus, where its growth and development takes place.

Gradually it takes the form of a baby and after 9 months this baby
is born.

In this way, the function of the reproductive system of the man is
to produce sperms and transmit them to the woman.

The function of the female reproductive system is to produce the
ovum and, if it is conceived, to nourish that ovum until it is fully
developed and is born as a baby and then to nourish it through
breastfeeding.

Until it becomes fit for eating and drinking.

Q. St & U+ 9 & 9 R afga [fku)

Draw figure of uterus and write reproductive organs of female.
IR - Wil & Uoi=4 37 (Female Reproductive Organs) -

Bt o TS 37T ehl ST Reh Qd si1gy &l A1 | faenfSia fomar siar g, it



fAefafaa g-

Female reproductive organs are divided into two parts, internal
and external, which are as follows-

1. Sfidfas o= 7 (Internal Reproductive Organs) -
Following are the internal reproductive organs-

(i) f&w= 4fd=ar ar sverarg (Ovaries)

(i) &= arfgf=ar (Fallopian tubes or uterine tubes)
(iiiymierg (Uterus)

2. @it & q1gy @=+1 (External Reproductive Organs) - it & aTg]
ST FAAEfefaEd 8-

Following are the external genitals of a woman-
(i) e <iet a1 J=9 feE (Mons Pubis)

(i) ged atf=-37s (Labia majora)

(iii) =g aif o7t (Labia minora)

(iv) 71 s (Clitoris)

(v) =19 Td ggd Tif= weror (Lesser and greater vestibule)
(vi) Fif=se (Hymen)



(vii) gt (Vagina
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Q. TR &t AT o1 fARgds gof= SifSg)
Describe the structure of uterus in detail.
FR- IR (Uterus) Geh Jel ch MR chl 3HTehid Secl ATRMATAT St

it 81

4 o7 78T J FE & Ui g "o & A R gidl 8, I8 en o fg
! TG G+ arerl @i@e (cavity) Hiaueit grT Fida fEat @ sir gl

@ 3d Ot d i & awarg 7.5 . 9ters 5 @t qur Aes

2.5 Ot gidt g1

THTERAT § THIY &1 HTHR SRTHT IR IHT 3% ¢ ST 6|



T UHa T9F g1 & gTa fiR-ofR 1ot 5@ erawm F o Sire 8|
IR T ATl AYSTRR @ @ikael! gidl &1

Sl HULI YT H1ST 8idT & S9! Uy (uterine fundus) @ed g1
TR 6 SATIR UR IR &t e st & afer ST gepar -

The shape of a girl's uterus is like an inverted pear.

It is located in the pelvic cavity behind the urinary bladder and in
front of the rectum.

It is a female organ made of hollow muscles that can hold a fetus.
In average healthy women, the length of the uterus is 7.5 cm.
Width 5 cm. And thickness 2.5 cm. it occurs.

The size of the uterus increases approximately four times during
pregnancy. After delivery, the uterus gradually returns to its
original state.

The shape of the uterus is triangular and hollow. Its upper part is
wide, which is called uterine fundus.

On the basis of structure, the uterus can be divided into the
following parts-

" Fallopian W b

. tube

— Body of the
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Owvary

— Cervix
Endometrium

Vagina



1. i@ (Body of the uterus)-
g MU & FU ef fIgre T a1 2 9 of T 91T giaT £
Zch HUT FIT H &1 3R Ueh-Teh el 3Tehe Gelal 8

g Afergl ot f3w anfgfRal & mwierg & e aret el ot Mar aret
%h HUR gTet IAAIGL T[S ch STTeRR o THIM S T hi BUed (fundus)
hed Bl

gqeh! gy fAf u= i 3= emRiftua glar 21

mufarg wosy & =i Y ok &t fR-fR Tehiol giar St & 9k gadh
1UST Heig HAAT & Tl G UTE Bl & G URIel=a9 § sresstied gidi gl

A HATG TR WRIE T 81 ST & R HIUA G THIRM & oft<r i T[8T aht
3ReRIETs HIB (vesicouterine pouch) &gl SIIAT &1

This is the upper two-thirds or 2 inches long part of the uterus. In
its upper part, one tube opens on both sides.

The dome-shaped part of the uterus above the line joining these
tubes to the openings of the fallopian tubes in the uterus is called
the fundus.

The fertilized ovum is implanted on its posterior wall.

The uterus gradually narrows downwards from the fundus and its
anterior surface is adjacent to the urinary bladder and is flat and
covered with peritoneum.

It is reflected on the bladder and The cavity between the uterus
and uterus is called vesicouterine pouch.



2. i fiar ar gfdaw (Cervix of the uterus)

g MM T MU & A1 &t 1/3 N7 7 S99 2.5 oY, =T 9RT
YT 81 Tg | Fehtof giar 2|

2gferu &1g i U g8 IO de-TahR gidr gl

g FUR-Ad ot sraer e 7 arferes =St gidt &1 i e o aifa &

Gor- aTell 7§ TR W1 $1ear M9 & dfeqd sheardl 8, g gr
TR e & TeT T Y IET @ T Edl gl

ifer e s grR1 i dr & wefRd wd gl

IR WaT & @ Ud S oh | ol |IT THIR diaT Aferent
(cervical canal) &hgaTdl 81

oyfRry e AT & UL T Uah fgTs Gehof st gehiof oy o
SRMY (isthmus) FHearar gl

ot Tt o o wiferes end & geaf=ta <, i & i fAdw =g 9
S 1 SR A1 U i oht wHgrA & forg mfera &t uriiRi 6
LT AT T UTGT ST ST 8 |

STt ST TR & &

This is the lower 1/3 part of the uterus or

About 2.5 cm. There is a long part.

This part is narrow. Therefore it is more cylindrical than the body.
It is wider in the middle than at the top and bottom.

The opening of the cervix into the vagina is called the cervix or the
opening of the uterus, through which the cavity of the cervix is



connected to the cavity of the vagina.
The cervix is connected to the uterine body through the antrum.

The part between the entrance and exit of the cervix is called the
cervical canal.

The narrow part of the upper one-third of the cervical canal is
called the isthmus.

To understand gynecological diseases such as diseases related
to menstruation, diseases of the uterus, especially tumors or
tumors, etc., and pregnancy, it is necessary to gain knowledge of
the structure of the walls of the uterus.

Which is like this-

(a) dR#HIfegaw (Perimetrium)
gg iy & (AT & Ted 91gR F T u=a it 8, 91 aReif[
(Peritoneum) @t Izt uxd gl &1

STt THIR ol SETT-S1eTT T8l U STei-3eltT Uhk & Chell g8 8idl & 31X
werferg o sifdrepisr vt T Eepelt 21

T & 37R &t THUSH I &1 & HS W deh thell @ell 8

AET T Tg HATMT Y FURN TR h HUR oh! TeIeahe dAanigexiag ursd
(vesicouterine pouch) a1 Uil # Ug deret BUSY hi 81 Sehdl &, 3R &t
site ferme 1 AATUT ehear &1 98 i &bt 2oy Y uryr ARt S
Hel @ g |

. It is the outermost serous layer of the uterine wall and is the



serous layer of the peritoneum.

Which is spread in different ways on different surfaces of the
uterus and covers most of the uterus. It extends forward to the
fundus and some parts of the body.

From here it turns over the upper layer of the urinary bladder and
forms the vesicouterine pouch and on the sides it banks only the
fundus, and forms two branch ligaments.

It keeps the uterus attached to the lateral walls of the pelvis.

(b) Aratifean (Myometrium) -
g YT &hi Aeaa? Rt daft & 3t it g+ S Sime g9 A ueg
it 1

g THTEwT & Gy EFHIaR iR oft 91 g wircht & aifes ag it
URd gidl 2l

37 I T JAfpar 9T 541 uxd & g1 Afda giar 81

=4t ararafean < ued | afFe], @i arfgfar ud v arfef~ar gidt 81
SIA-S18 U7 &1 faehTa gIaT SI1aT € U8 URd adictd o shiuT T &
TR &t ot T2 < 81

gg i AR " &Y odiifean qur sigr & guetdifeay & &g
e 2 St & sfedes uRft & uva gidl &, St oI uxat # 9y

31TOR A B & 29 whaTR T ud aEed B &
gYch AU & Ry maiaw & sifaw AT 7 misrg erge SRR & 24
THT dch 96 SIidl 8

It is a layer about half an inch thick made of smooth muscle



fibers in the middle layer of the uterus.

It becomes even thicker as required during pregnancy because it
is a muscular layer.

Therefore, most of the uterus is formed by this layer.

This layer of myometrium contains capillaries, lymphatic vessels
and blood vessels.

As the fetus develops, this layer becomes flexible and allows the
size of the uterus to increase.

It is present in the uterine wall about 2 cm between the outer
perimetrium and the inner endometrium.

There is a layer of thick involuntary muscle, which is the thickest
of the three layers and contains blood vessels and nerves.

Due to its flexibility, the uterus increases up to 24 times its size
during the last days of pregnancy.

3 . guetHifzas (Endometrium) Tiferg &Y g8 afiaf¥es uvd Tep UehRR i
faf2re sdfeies f@ieett (mucous membrane) & gRT &+ gidt & ok oA
(vagina) T4 teifug= aferenrar 6 FRmazar 9 g 81

gg I o Hia S AR & 91y Aotddt 8 S8t §8 THIRR
Sueha (columnar Epithelium) &t &t 3-4 AT, 91¢ uza gidl 8, a9

3reh sosHT FTdT YAt g 8|

This inner layer of the uterus is a type of special mucous
membrane.



It is made up of mucous membrane and remains in continuity
with the vagina and fallopian tubes.

It is made of 3-4 mm long columnar epithelium firmly attached to
the myometrium within the uterus.

There is a thick layer, which contains many mucus secreting
glands.

Q. & UGt Y G==1 U w1l & guiH HifSg)
Describe the breast mammary glands and write its function.
IR - W AT (Breast Mammary Glands) -

foraf @19 a4 (menstruation) TIR™T &19 &Y SaRAT 12 T 16 a9 &t
et ST 2 e ot R &) i Tt Y oy 18 ad aifeh e 2,
3T YR B4 | 81 gadl & a1 &A1 # IHR TR g o111 g adl
18 & e 31y ek & &1 T+ gt faerf¥d & 5 21

The age of onset of menstruation in women is considered to be
12 to 16 years and the age of full development of a girl is
estimated to be 18 years, hence from the beginning of puberty,
the age of a girl is considered to be 18 years.

Both the breasts begin to bulge and by the age of 18, both the
breasts become fully developed.

Structure — 39+ (Structure) -

g8 th! A1y (sternum) @ &1V T4 &TT &6 ah fohRI (armpit border)



Jh TUT HUR Y A T UHel! & Il BS! ULel! dch b & hl
ke (pectoral) 9fRrgt & FuR et sepfa & AT & @@= (mammary
glands) Tif3™1 gt &1

3 AT U= I &bl Fges T HH] A1 8, SRilfch 3 AT g9 &l
=TT g Sire @l 8 fSra fA3) hr givor glar g

fort & dtaae & g9 9 s%e Ud TSR (oestrogen and
progesterone) gTHI! o UyTd § T1f8e ¥ & f&AT (Teh) | w1 ohr
STPR F&dT 8, U= THIGTAT oh THY § &1 ol SRR HR S gui 8l
SIGIG

g 1T Hf9e Sds (glandular tissue), 1 Sd (fibrous tissue)
T T oo (fatty tissue) 37 o1 UHR & Sl I a1 gidl 8|

Udch T Ui # G Sdh & T 20 WUS gid 8, 3R U @
# &2 @Usa (lobules) glat & 94T @UsHh a1 IS & =81 § 54 gla g, 5
aic-sie arfgfat § gerd €, fSieh sen § a8t et arfgfal s=dt &
forg gy Tt arfef=af sgd 81

gl g7 |l anfgf=ar g # Ugddl @ SR S9! 9dg IR Geldl o
TAH il Fedg IR G- | gd 4 arfefar fremRa gt st 1

ITehT U TEEhROT 1Y &Rl USR &4 STTdT 81 = Heleh Ulacl ek il

h! Aeheh? [T g 3R a3y Ideh WY UfY &l gag & smeaiied fehu
EIaT &, T @usehi & &g F urar SIEr 81

Up to the right and left armpit borders of the sternum and In a
circular shape over the pectoral muscles in the area from below
the second rib upward to the sixth rib.

There are two mammary glands produced.

These glands are considered auxiliary organs of the reproductive



system, because they The glands produce and secrete milk which
nourishes the baby.

From the time of puberty in women, estrogen and

Due to the effect of progesterone and progesterone hormones,
the size of the breasts increases during the menstrual cycle.

But during pregnancy, the size of the breasts increases further
and becomes complete.

Mammary glands are made up of three types of tissues: glandular
tissue, fibrous tissue and fatty tissue.

Each mammary gland has about 20 pieces of glandular tissue,
and each piece has several lobules and the lobules are made up
of clusters of air sacs, which open into small vessels, which join
to form larger excretory vessels. Which are called milk secretion
ducts are formed.

All the milk secreting ducts reach the breast and open on its
surface.

These vessels dilate before opening on the surface of the nipple.
This expanse of theirs became a storehouse of milk goes.

Fibrous tissue blocks the glandular tissue vessels and fatty
tissue covers the surface of the mammary gland and is found
between the lobules.

& (Function) -
Ty Ut o TReg i ofedl & O H oA oh TTe 47 ol FHToT aheer



Bia1 & 3R &= opl HI ch gRT TAUT hId GHY GIEl hl Hh AT 8

et o ST o TTe 31T UTafent 1Y § Hifda wietfaes g & Jgaa
Y W1 H g7¢ T IATEA BIdT 6, AT I & GRI & & 9 J Tah &
SEI gl & srgfehar # gyt digfien 42 & sifefieifem gmi
(oxytocin hormone) ¥ &= @ g4 <kl Hf<h gt 81

The main function of the mammary glands is to produce milk
after the birth of the child and Milk has to be released while the
mother is breastfeeding the child.

secreted from the anterior pituitary gland after childbirth.
Stimulation of prolactin hormone leads to milk production in the
breasts, and sucking of the breast by the baby leads to
stimulation of the nipples.

In response to the oxytocin hormone of the posterior pituitary
gland, milk is released from the breasts.

Mty it

Sacondary mmmmary tubue ——

Q. ©ft tfag = gidt &2 ifmy 1oy &t =T &1 9ol HifSg)



What is female pelvis? Describe the structure of bony pelvis.
IR - @ Gfaw (Female pelvis)-

271for 31fe dhepret (skeleton) & Ted & 9 6 88! & A T 3R
et & A awan 6t srepfd & G951 T w31 gidt & It 9 § 2l
ol S g

freaewd d Sft 6t 210 @1 siféles Tga war gl
it 971fOT (pelvis) U it iifor i srden sifdres <9<t gl &1

St A it & ST T B 81 20 Y srepfe gREeR, e aer e
T auT il AEl vEdt &l

9d sub pubic 90° &1 g &, 39ch! Tiess @I (notch) 18! &l &1

TR & SHg iR H Y TEaT & ST THTERIT S JHY O EH W)
gfgeR (outlet) ¥ aTER Fepet STaT &1

In the middle of the pelvic skeleton, in front of the spinal cord,
there is a saucer-shaped structure made of bones which connects
the legs to the torso. In midwifery, a woman's pelvis has more
importance.

The female pelvis is wider than the male pelvis. The female
genitals are located in this.

The shape of the pelvis is curved, round and less deep and more
wide.

In this the sub pubic angle is 90° and its sciatic notch is wide.
During pregnancy, the baby remains in the uterus, which comes
out through the outlet when the pregnancy period is over.



siifor &Y iRt (Bones of Pelvis)-

sifor A=y sifedat & e Tt &

Pelvis is made up of the following bones-

1. & 3™ R4t (Two Innominate bones or hipbone)
2. Geh f3ich g1 Yeh A (One Sacrum bone)

3. Ueh ek a1 hiferTE 1€ (One Coccyx bone)

ilinc, Jsacral promontory
i

rrrrrrr

crest ™

anterior—

supenor Tsacrum
iliac spine - .
ischial spine
57/ coceyx
pf:lfi.t: .
brim pubic pubic bone

svinphysis

1. gt 3= @3t (Two Innominate Bones) -

3 sifeat arfi aur et <7 ST Ueh-Ush fRa &<l €1 uceh oh i S
Ed 8
(a) fer@™ (llium), (b) 3f@TH (Ischium) auT fees 1= (pubic

bone)|
g IRt 1Y Te+ & 1Y SIS Ueh 8l STl g

These bones are situated one each on the right and left sides.
Each has three parts:



(@) llium, (b) Ischium and pubic bone.

These bones join together and become one with increasing age.

(a) sferm (llium)-

gg hipbone & G&€ $U<l @ el W glaT &, foiddh tie aret del § Aawe
&I FaafrET e I8! el

sferId & 39 41T & FUet AR &t iliac crest &Ed g1

g9ch FURI fehR & 9THA B3I &1 Ush IYR T8l & foidenl anterior
superior iliac spine &gd &1

Sitfor fReR & TR B U & IUR T§d &, o FuR aret IUR o
posterior superior iliac spine 9T = gTet 39R &I posterior spine
hed & | HIfOT & ligaments 81 iliac spines & S8 gl &1

This is the uppermost and widest part of the hipbone, to which
the muscles of the buttocks are attached.

The upper edge of this part of the ilium is called the iliac crest.

There is a bulge of bone in front of its upper edge which is called
anterior superior iliac spine.

There are two projections at the other end of the pelvic crest, the
upper one is called the posterior superior iliac spine and the lower
one is called the posterior spine.

The ligaments of the pelvis are attached to these iliac spines.



b) sf=ras sruar smE=TRY (Ischium Bone)

ag hipbone &1 U, Free, Aier 7 7ogd 9T g e

39 I | Ueh IUR T84T & o 3fEaw &1 39R (ischial tuberosity)
&hEd & |

5+ & Y IR T G YR 39t 0R feakar g1

zg¥ ot iliac bones &t Hifd IR gl & o= 1t fi stk IR g3 g3
Ueh ehicaR Jehlel! T gid! & fSrgant ischial spine &gd &1

U&d o guy A 1 B 361 spines o @R U fd gidT & [Si&el zero
station gd &1

This is the posterior, lower, thick and strong part of the hipbone.
There is a bulge in this bone which is called ischial tuberosity.

While sitting, the entire weight of the body rests on it.

It also has bulges like the iliac bones, which have a thorny
structure bent upwards at the back, which is called ischial spine.

At the time of delivery, the baby's head is situated at the level of
these spines, which is called zero station.

(c) ST a1 =Y (Pubic Bone) -

g8 innominate bone o JTH aTeAT il HIT 8IdT & S GRI aRW b el
T T fAeTeRe 3T Srfey srerar Sioy a1 3t araT fReaT s=rar & st um
&1 pubic bone Fgd &

59 3T ¥ Teh TITehR v 9T &t IR B §, [Si=Tent shHal: superior
ramus a2t inferior ramus %gd &1



g g1 ST 9o ol avwh ud # fAea) symphysis pubis &t T@HT @
gl

faeh AR & gl IHR a7 ischium bone & &1y ez U @
4 € 29 f&g ol obturator foramen hgd &1

gceh hip bone T Teh U & 99T =1 gl & figah! acetabulum
cavity gd g1 g€ cavity & 119 (head) fthe saar 81

This is the round part in front of the innominate bone which joins
with the round part on the other side to form the front part of the
innominate bone or pelvis.

This part is called pubic bone.

This bone has a square body and two projections, which are
called superior ramus and inferior ramus respectively.

These two sides meet together in the front to form the
symphysis pubis. Both the bulges of the pubic bone and the
ischium bone together form a hole called the obturator foramen.

Each hip bone has a cup-like structure called acetabulum cavity.

The thigh (head)Head of the femur bones fits in this cavity.

2. e a1 e (Sacrum)

Gohd 3R g1 sferaw it & §i9 #dssT gus & o uig
FHATHIHA (vertebrae) & ATUH H S+ § U fdan-maR (wedge
shaped) 1= §4TT &1

AehH T TgdT Hehel AR AT i 37R ZIeRT §3M Td IHT §3HT 3§ o,



g9eh! sacral promontory &gd &1

Sacrum =t 3T Tg TUTe |l & 4T 37er I Ui ol 9 oht Fehelt Tgat
el

3! el Tag et el & g we Aiaafat der gidt 81

e | IR B% 38 8 994 spinal cord &t @ (candequina) | &4
el afed fAaedt € STt oy & o &t aferrgfd st 81

The sacrum bone forms a wedge shaped bone by joining the
lower five vertebrae of the vertebral column between the two ilium
bones.

The first sacral vertebra of the sacrum remains bent forward and
raised, it is called sacral promontory.

The anterior surface of the sacrum remains flat and protrudes
from the inside towards the back.

Its back surface remains rough on which muscles are attached.

There are four holes in the sacrum from which nerves coming
from the tail (candequina) of the spinal cord emerge which supply
nerves to the pelvic organs.

3. g 31 (Coccyx Bone)-

gg HRUSeh] GUS &l a4 [A9dT FHhUeR SR |l 8, & gR-UI9 3feq
Taepfad sheisepral & date & [Rffa o1 g1t 81 ug i dapm & i
g w81

T4 & 99T 98 SR 1" d e &t 31k f[&ges et & s iRy &



g & forg srfdres = & Srar 81

This is the lowest triangular end of the vertebral column, which is
a bone formed by the combination of four-five poorly developed
vertebrae.

This bone is located below the sacrum. At the time of delivery,
this bone moves backwards up to 1", which provides more space
for the baby to move.

Q. =iifor & faff=7 R -3 T 87

What are the different types of pelvis?

IR - Ufcas Gz a1 fohart (brim) & 3TUR UR IR UehR 6l gidt 8-
There are four types of pelvis on the basis of structure and brim -
1. Gynaecoid Pelvis

2. Android Pelvis

3. Anthropoid Pelvis

4. Playtypelloid Pelvis

(E=S =\ J
\ s | ot i 4
% ' L G ¥
L L d A\ 7
L g St iy

+ Gynecoid + Android

= Greek; gyne = woman » Aner/ Andro = man
* Naormal female type of pelvis; optimal

shape for childbirth * Typical shape for male
e e =
=17 - |
[ AN ) " ( =5 )
| i V Il'.- ; T I. ..
1] ¥ \ 4
A St

= Anthropoid * Platypelloid
* Anthropos = human * Platys=broad & pella=bowl



1. Gynaecoid Pelvis -
0 T St Bl Te! Loy 7= ST 2|
2 UehR chl #HfOY &1 brim et g gafd @i et 8k a1 384T 8|

grsst i &ar deft gt &, 181 (cavity) Bset (shallow) arfy &5 188
gidl 81

S7ITOT ST SATAT 9T T4 d1eT a7 Yehd 2eT BT gt g1 8 Ischial
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It is considered to be the real pelvis of a noermal woman,

The brim of this type of pelvis is round and occupies sufficient
space.

The side walls remain straight, the cavity is shallow i.e. less deep.

The front part of the pelvis is wide enough and the sacrum
remains crooked and bent. Ischial spines are not raised but blunt.
Sciatic notch is very wide and forms an arch at an angle of 90°.
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This type of pelvis is similar to the male pelvis, hence it is also
called male pelvis.

The brim of this pelvis is heart shaped and its front part is narrow.

Its lateral walls are not straight but converge due to which the
pelvis is narrow like a funnel and has a deep cavity.

The angle of the pubic arch is less than 90°.

This type of pelvis is not suitable for giving birth to a child. Such
pelvis is of short and fat women.

3. Platypelloid Pelvis -
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This pelvis is flat and its brim is like the shape of a kidney.

Its lateral walls remain flexed outwards, the sacrum remains flat
and long, the cavity is less deep, the ischial spines remain blunt.

This type of pelvis is found in very few women.



4. Anthropoid Pelvis -
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This type of pelvis has a long elliptical brim. In this the anterior-
posterior diameter is longer than the transverse diameter.

In this type of pelvis the sciatic notch is very wide and the sacrum
is long.

This type of pelvis is found in women with tall height and narrow
shoulders. Such a pelvis may cause problems during delivery.



